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OMS: Can you write 2 addilion number senlences for these groups
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WALT: Begin lo recognise J:amilg addition J:o,cts.
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How else can you write this addilion senlence’
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WALT: Beg'm lo recognise J:amilg addition fo,cfs.
WALT: Iclenhfg keg fac}s and solve worded Problems

Kade the giraffe has 5 spots. Harrison the giro,ﬂ:e has 3 spofs.

How many spols are there in @?

Louis had 7 cars. Lotlie gave him & more. m‘\

How many cars has he 9ol allogether? k=0

Harlie calches 9 mice and his J:riencl Karter calches 2 more.

HOW mang ClO Hw COITS hOVG o,uogeHwer now?

Lana bo,|<es 8 coo|<ies for her friends. Lido, bo,|<es 4 more.

How many cookies do the girls have in lotal?



WALT: Beg'm lo recognise J:amilg addition facfs.
WALT: Idenhw keg fac}s and solve worded Problems

CO[C Hua giro,ﬂ:e I‘LO,S |5 SPOITS. Hagden Hw giro,ﬂ:e |’10,S i SPOtS.

How many spols are there in @?

J-GSSiCO had |7 cars. ROan 90,VC her 2 maore.

HOW manH cars I‘LOS he 90[7 o,uogeerr?

Anaira calches 9 mice and her friend Reuben calches 8 more. w
How many do the cals have o,uogeHwer now? '

Lennon IDOI(GS |2 COOI(LGS JTOF I’LLS frtends IOSGP"I bO,I(CS 6 more.
HOW mang COOI(LGS dO Hue bOHS hOVG in l? ITGP ;



WALT: Beg'm lo recognise J:amilg addition fo,cfs.
WALT: Idenhfg keg fac}s and solve worded Problems

Oliver the giro,ﬂ:e has |5 spots. Arun the 9iro,ffe has ﬂ spots.

How many spols are there in @?

Mio, I‘L(Jd |7 cars. EVG[HH 90,VC her |2 maore.

HOW manﬂ cars l‘tOS he 90[7 0“7096”16!”?

J-iO, COITCI'LGS |2 mice o,ncl her friend EbOnﬂ COITChCS q maore.

HOW mang CJ,O Hw COITS l’lOVG O“:Og@H’lCI’ I'IOW?

Sam bakes 23 cookies for his friends. Sho,tjne bakes & more. —
How many cookies do the boHs have in total? @g}



WALT: Beg'm lo recognise J:amilg addition fo,cfs.
WALT: Idenhfg keg fac}s and solve worded Problems

Jonah the giraj:fe has B spols. Cecilg the 9iro,ﬂe has ﬂ spots.

How many spols are there in @?

LOH[O ho,cl 27 cars. Rheo, gave her |2 maore.

HOW mang cars l’LOS he gOlf allogether?

/A\mo,ﬂo, catches 23 mice o,ncl her J:riend Emmie catches || more. ?%WQ

HOW mang CJ,O Hw COITS l’IOVG O“:Og@H’lCI’ I'IOW?

Marcus bakes |9 cookies for his friends. Bellie bakes 8 more. —
How many cookies do the boHs have in tolal? @



WALT: Beg'm lo recognise J:amilg addition fo,cfs. .
WALT: Idenhfg keg fac}s and solve worded Problems

Noah the giraj:fe has 28 spols. Billie the giro,ffe has ﬂ spots.

How many spols are there in @?

Erin ho,d 2| cars. Amelio, gave |wer |2 more.

HOW mang cars l’LOS he gOlf allogether?

HOHHOI’L COITCI'LGS 32 mice o,nd her friend George catches 2| maore. \%

HOW mang CJ,O Hw COITS l’IOVG O“:Og@H’lCI’ I'IOW?

Tecldg bakes 29 cookies for his friends. Kale bakes |8 more. —
How many cookies do the boHs have in lotal? @
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MOI"C Hl(ln, less Hl(ln or equal EO?
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More Hmn, less Hmn or equol lO?
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